CARDIO THORACIC & NEURO SCIENCES CENTRE ALL INDIA INSTITUTE OF MEDICAL SCIENCES TENDER/RATE ENQUIRY

R.E.NO:-67/CNC/2015-16

DATED: - 18.3.2016

SEAL OF THE OFFICER

NAME OF THE FIRM

THE ASSTT.STORES OFFICER, ROOM NO. 17, 1st Floor, Ex-Nurses Hostel (New Private Ward) A.I.I.M.S., Ansari Nagar, New Delhi-110029.

LAST DATE OF SUBMISSION : 01.04.2016 at 11:30 AM DATE OF OPENING : 01.04.2016 at 2.30 P.M.

Dear Sir,

1. I/We hereby submit our sealed quotation for condemned general items(As per list attached)

- 2. All the terms and condition such as taxes etc. has been indicated in the Schedule failing which it may be presumed that the rates are inclusive of all taxes and other terms and conditions are also as per your terms and Conditions are also as your requirements.
- 3. I/We have deposited security of Rs. 5000/- in favor of A.I.I.M.S. CNC A/C NEW DELHI vide C.N. Centre cashier receipt Number______ Book No.______ Dated______ through the Stores Section C.N. Centre and Photocopy of the deposit receipt is enclosed with as per your terms and conditions.

THE FIRM SHOULD SUBMIT COPY OF FOLLOWING CERTIFICATE ALONG WITH SEALED QUOTATION.

- 4. A proof of ownership/partnership etc shall be submitted along with Verification of address, telephone & fax numbers.
- 5. The latest income tax certificate & Sale tax certificate.
 - 6. *I/we hereby agree to all the terms and conditions, stipulated in the tender document, in this connection including delivery penalty etc. Quotation for the item is being submitted under sealed cover and sheets and be considered on their face value.*

Contd....1

- 7. Tender is duly signed (not thumb impression is affixed)
- 8. If the firm gives a false statement on any of the above information the firm/supplier will not considered and their quotation shall be rejected and the security deposited shall be forfeited.
- 9. The firm should have been in this business for a period of a least two years in the relation to the type of the type of item for which the quotation are being submitted.
- 10. Inspection of the condemned items lying in courtyard near CN Tower is done by us on any working days (10AM to 4Pm) except Saturday before submitting the quotation.
- 11. This forbidding letter duly signed is returned along with the sealed quotations.
- 12. The bidder has to lift condemned material within two days failing which a penalty @ Rs/-1000/- per day will be imposed.

Yours faithfully

Signature of tendered with Official rubber stamp and Full Address.

1. Witness and address

2. Witness and address _____

Contd.....2

CARDIO THORACIC & NEURO SCIENCES CENTRE ALL INDIA INSTITUTE OF MEDICAL SCIENCE Ansari Nagar, New Delhi-29

REF.RE. NO:-67/CNC/15-16

Dated: 18.03.2016

The sealed quotations are invited by post/per bearer for lifting of general condemned items lying in courtyard near CN Tower(as per list attached).

The quotations should reach this office on or before <u>01.04.2016 at11.30A.M</u>. duly sealed & marked tender/R.E. No. <u>67/CNC/2015-</u>2016/ST. Due for opening at 2.30 P.M. on <u>01.04.2016</u> in the office of Asstt. Stores Officer Room No. 17, 1st Floor, Ex-Nurses Hostel (New Private Ward), A.I.I.M.S., New Delhi. All quotations should be typewritten or in ink. Before submission of offer bidders are requested to inspect the condemned general condemned items lying in courtyard near CN Tower between 10AM to 4PM on any working days except Saturday.

The tenderer are required to deposit security of Rs. 5,000/-through a Demand Draft/Pay order drawn in favor of the AIIMS, C.N.C., Accounts, New Delhi-29, before submission of the quotations,. The tenderer will indicate the number and date of the cash receipt by which the firm had deposited. Further the approved tenderer is bound to pick up the condemned material with in a period up two days, failing which security may be forfeited

PERFROMA F LIST OF CONDUMNED ITEMS (42th CONDEMNATION BOARD WHICH IS IT BE HELD ON 17.03.2016 AT 11.30 A.M.

S.No	Description of Items	Year of purchase/Inst allation	Oty.	Original Unit Cosdt of each item in Rs.	Total Cost	Reason of condemnaiton (Whether unserviceable/Obsolete etc/surplus scrap/beyond economic repair condemnation Certificates issued by CTO (CWS) CF in case of compute related items must be enclosed	Details of head under which the items was purchased & funds were booked (Whether M & E or M & S)	Reserve price (approx value in Rs.)	Remarks in any
1.	Almirah	1991,94,99	28	2,750/-	77,000/-	Beyond economic repair	Furniture	13,000/-	Yes
2.	Fowler Bed	2007	5	8,500/-	42,500/-	Broken not repairable	Furniture	2,000/-	Yes
3.	Pead Beds	1990	2	5,100/-	10,200/-	Beyond economic repair	Furniture	400/-	Yes
4.	PT Trolly	2003,2010	7	4,200/-	29,400/-	Beyond economic repair	Furniture	700/-	Yes
5.	Bed side locker	1990-92	8	1,250/-	10,000/-	Broken	Furniture	160/-	Yes
6.	Instrument Trolley	1992,2009	7	1,475/-	10,325/-	Beyond economic repair	Furniture	70/-	Yes
7.	Wheel chair	2007,08	19	2,275/-	43,225/-	Beyond economic repair	Furniture	70/-	Yes
8.	Revolving chair	2010-11	19	3,530/-	67,070/-	Beyond economic repair	Furniture	110/-	Yes
9.	Revolving stool	2010-11	9	425/-	3,825/-	Unserviceable	Furniture	90/-	Yes
10.	Iron Bench	2003-12	8	2,450/-	19,600/-	Beyond economic repair	Furniture	1200/-	Yes
11.	Steel rack	2010-10	4	2,175/-	8,700/-	Beyond economic repair	Furniture	400/-	Yes
12.	Wooden Stool	2008	4	275/-	1,100/-	Broken	Furniture	10/-	Yes
13.	6 Locker	1991	3	3,350/-	10,050/-	Beyond economic repair	Furniture	1500/-	Yes
14	8 locker	2008	1	3,575/-	3,575/-	Beyond economic repair	Furniture	500/-	Yes
15.	18 Locker	2008	1	3750/-	3,750/-	Beyond economic repair	Furniture	500/-	Yes
16.	Visitor chair	2011	2	1,375/-	1,750/-	Beyond economic repair	Furniture	20/-	Yes
17.	T8 Table	1988-90	3	2,375/-	7,125/-	Broken	Furniture	60/-	Yes
18.	CupBoard	1998	2	2,490/-	4,980/-	Beyond economic repair	Furniture	300/-	Yes
19.	O2 Cylinder stand	2012	2	225/-	450/-	Broken	Furniture	10/-	Yes

20	Screen folder	1990	1	225/-	225/-	Beyond economic repair	Furniture	5/-	Yes
21	I.V. Stand	2006-08	29	745/-	21,605/-	Beyond economic repair	Furniture	220	Yes
22.	Push cart	1991	2	2,575/-	5,150/-	Broken	Furniture	50/-	Yes
23.	Needle destroyer	2006- 2009,2010	63	999/-	62,937/-	Broken	Furniture	50/-	Yes
24.	T.V 21 inch	2007	1	7,790/-	7,790/-	Certificate include	Furniture	200/-	Yes
25.	Weight Machine	2008,10,201 2	7	525/-	3,675/-	Beyond economic repair	Furniture	35/-	Yes
26	Locks Assorted sizes	2007,2008,2 010	158	39/-	6,162/-	Broken	M & S	304/-	Yes
27.	S.S. Tray	1999-2007	71	110/-	7,810/-	Broken	M & S	10/-	Yes
28.	Fumigation machine	1998-2007	6	22,500/-	1,35,000/-	Beyond economic repair	M & S	60/-	Yes
29.	Sun flow	199-2008	9	525/-	4,725/-	Beyond economic repair	M & S	12/-	Yes
30.	Hot plate	1987-2012	5	325/-	16,250/-	Beyond economic repair	M & S	5/-	Yes
31.	Torch Assorted size	1997-98	4	45/-	180/-			2/-	Yes
32	Foot step single	2010-11	13	425/-	5,525/-	Broken	M & S	26/-	Yes
33.	Foot step double	2006	1	625/-	625/-	Broken	M & S	5/-	Yes
34	Toiler scissor	2006	1	125/-	125/-	Broken	M & S	1/-	Yes
35.	S.S. Bowls	2008-2009	30	20/-	600/-	Broken	M & S	2/-	Yes
36.	Steel Basin	1997-20005	5	125/-	625/-	Broken	M & S	2/-	Yes
37.	Gas stove	1993	3	2175/-	6,525/-	Beyond economic repair	M & S	5/-	Yes
38.	Crash cart	2012	3	20,000/-	60,000/-	Broken	Furniture	150/-	Yes
<i>39</i> .	OT-Boiler	2013	4	3900/-	15,600/-	Beyond economic repair	M & S	20/-	Yes
40.	S.S.Jar	2013	13	50/-	650/-	Broken	M & S	2/-	Yes
41.	Kidney Tray	2013	2	45/-	90/-	Broken	M & S	2/-	Yes
42.	Air mattress	2003	2	4500/-	9,000/-	Broken	M&S	Nil	Yes
43.	Transducer stand	2009	1	6200/-	6200/-	Broken	M&S	Nil	Yes

44.	Suction machine	1999	6	40,000/-	2,40,000/-	Broken	M&E	600/-	Yes
45.	Microwave oven	2009	1	6,950/-	6,950/-	Beyond economic repair	M & S	69/-	Yes
46.	Foot-Step Triple	2013	1	925/-	925/-	Beyond economic repair	M & S	9/-	Yes
47.	Plastic chair	2009-2010	35	265/-	9,275/-	Broken	Furniture	130/-	Yes
48.	Kitchen Knife	2011	4 Dozen	25/-	100/-	Broken	M&S	1/-	Yes
49.	Karchi	2007	3	45/-	135/-	Broken	M&S	1/-	Yes
50	Tea spoon	2015	12	5/-	60/-	Broken	M&S	1/-	Yes
51.	Tea Flask	2007	9	325/-	2925/-	Broken	M&S	18/-	Yes
52.	Tea Pot	1999/-	5	65/-	325/-	Broken	M&S	6/-	Yes
53.	Peelar	2007	4	10/-	40/-	Broken	M&S	Nil	Yes
54.	Curry Bowls	2013	20 Dozen			Broken	M&S	Nil	Yes
56.	Cups & Saucer	2013	20 Dozen			Broken	M&S	Nil	Yes
57.	Soup Bowler	2013	12 Dozen			Broken	M&S	Nil	Yes
58.	Quarter Plate	2013	19 Dozen			Broken	M&S	Nil	Yes
59.	Full Plate	2013	5 Dozen			Broken	M&S	Nil	Yes
60.	Soup spoon	2013	10 Dozen			Broken	M&S	Nil	Yes
61.	Juice glass	2011	6 Dozen			Broken	M&S	Nil	Yes
62.	Glass	2011	6 Dozen			Broken	M&S	Nil	Yes
63.	Tea Set	2011	2 Dozen			Broken	M&S	Nil	Yes

64.	Curry Bowles	2007	18			Broken	M&S	Nil	Yes
	DBC		Dozen						
65.	Soup Bowles	2007	12			Broken	M&S	Nil	Yes
	DBC		Dozen						
66.	Atta Stainer	2007	Five			Broken	M&S	Nil	Yes
67.	Tea Stainer	2007	1			Broken	M&S	Nil	Yes
			Dozen			-			
<i>68</i> .	Hot Case	2008	1	2275/-	2275/-	Beyond Economic repair	M&S	50/-	Yes.